~ NS6-2: Place Value S ‘page3s |

The number 684 523 is a 6-digit number

_+ The digit 6 stands for 600 000 ~the value of the digit 6 is 600 000
C e The digit 8 stands for 80 OOO the value of the. drglt 8is 80 000

The dlglt 4 stands for 4 000 the value of the digit 4 is 4 OOO -

The dlglt 5 stands for 500 — the value of the digit 5 is 500 -
. The. digit 2 stands for 20 — the value of the digit 2is 20
. The d|g|t 3 stands for 3 —the value of the digit 3 is 3-
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.2. What does the dlglt 7 stand for'i in each number'? The f rst one |s done for you
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.3 Fillinthe blanks. | |
a) In the number 4 523, the g_g_t 5 stands for-

b) In the number 34 528 the g_g_t_ 3 stands for

) In the number 420 583, the value of the drglt 8is ‘

: ) In the number 75320, the va|ue of the drgrt 7is

- e) In the number 723 594,'the d|g|t - isinthe ten thousands place.
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